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Write the answer to Section A below.
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1
Which of the following happens when molecules gain energy and breaks away from fixed position?

	A
	ice melts
	C
	water boils

	B
	water freezes
	D
	vapour condenses


2
A slice of bread is placed under a red-hot electric grill to make toast.  How does the heat energy reach the bread?
	A
	by conduction only
	C
	by convection and radiation only

	B
	by conduction and convection only
	D
	by radiation only


3
The rate of evaporation of a liquid is increased by certain factors.  Which of the following does not help to increase the rate of evaporation of the liquid?

	A
	a big surface area
	C
	moving air over the liquid surface

	B
	a high temperature
	D
	high atmospheric pressure


4

A thermometer reads 2 °C in pure melting ice and 102 °C in steam above boiling water. It is used to measure the temperature of water before and after it is heated.

What is the error when the temperature rise is calculated?
	A
	zero
	C
	2 °C too high

	B
	2 °C too low

	D
	4 °C too low


5
When you stand barefooted with one foot on a marble floor and the other on a carpet, the carpet feels warmer than the marble floor. The most likely explanation is that
A
 carpet is a poorer conductor of heat compared to the marble floor.

B
 air is able to circulate through the carpet fibres.

C
 the marble floor is at a lower temperature than the carpet.
D
more energy flows from the carpet to the body than from the marble floor to the body.

6
Two copper cubes, X and Y, are each heated by an external electric heater. The graphs of temperature against time are as shown.

Which of the following is NOT a suitable explanation for the graphical result obtained?
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A 
X is heavier than Y.

B 
Y is wrapped in cotton wool but not X.

C 
Y is placed in a draught.

D 
Heater used to heat X is more powerful than


that of Y
7
A piece of lead is allowed to fall to the ground and as a result of its impact, its temperature rises. The final temperature of the lead depends on each of the following except
	A
	its initial temperature
	C
	its specific heat capacity.



	B
	its mass.
	D
	the height through which it falls


8
As water falls from the top to the bottom of a waterfall, mechanical energy is converted into the internal energy of water. If the specific heat capacity of water is 4.2 X 103 J kg-1K-1, calculate the difference in temperature between the water at the top and at the bottom of a waterfall 200 m high?

	A
	0.21 K
	B
	0.48 K
	C
	2.1 K
	D
	4.8 K


9
Which of the following statements is correct?

A
The temperature of an object decreases when it is divided into many small parts.

B
The temperature of an object is independent of the amount of kinetic energy it possesses. 

C
A liquid-in-glass thermometer is a device which changes its size as temperature changes. 

D
When two bodies of different temperatures are in thermal contact, internal energy is transferred from the body of higher temperature to that of lower temperature.

10
Which one of the following statements is not true?
A
A dull black surface is a good absorber of radiation.

B
A shiny white surface is a good emitter of radiation.

C
Energy from the Sun reaches the Earth by radiation only.

D
The best heat insulation against heat transfer by conduction and convection is provided by a vacuum.
11
If a tray of water is placed in the freezer unit of a refrigerator, it takes approximately 20 minutes to drop in temperature from 15 oC to 0 oC. However, it takes a further 2 hours before the ice is completely frozen. 
This is due to ____________________.
A
 ice being a better conductor of heat than water.


B
ice being at a lower temperature than freezing water.

C
the latent heat of fusion of ice being much larger than the specific heat



capacity of water.

D
the latent heat of fusion of ice being much smaller than the specific heat   

           
capacity of water.

12
A small cork is attached to a metal plate with wax.   An electric heater is placed close to the plate. After awhile, the wax melts and the cork drop off.  

How does thermal energy reach the cork?

A
By conduction only.
B
By convection only
C
By conduction and convection.

D
By convection and radiation 
13
A piece of wax is melted in a boiling tube and then allowed to cool at room 

temperature. The cooling curve is shown in the figure below. What occurs  between points X and Y?

 A
liquid is cooling

 B
liquid is turning to solid

 C
solid is cooling

 D
solid has stopped cooling

14 
A student investigates what happens as sulphur solidifies. Which of the following correctly describes these changes?



A
a transfer of energy and a change in temperature.

B
a transfer of energy but no change in temperature.

C
no transfer of energy and no change in temperature.

D
no transfer of energy but a change in temperature.
15
When a liquid evaporates, some molecules escape from it and its temperature is affected. From where do the molecules escape and what is the effect on the temperature of the liquid?
	
	molecules escape from
	
	temperature of liquid

	A
	all parts of the liquid
	
	decreases

	B
	all parts of the liquid
	
	increases

	C
	only the liquid surface
	
	decreases

	D
	only the liquid surface
	
	increases


16
The same amount of thermal energy is given to a block of copper and aluminium. Which of the following statements is true in both blocks?

A
The total energy of the molecules.

B
The average separation of the molecules.

C
The average kinetic energy of the molecules.


D
The average speed of the molecules.

17
A piece of aluminium of mass, m and specific heat capacity, c and a piece of another metal X of mass 4m and specific heat capacity 2c, each receive the same quantity of heat. If the temperature of metal X increases by 2 K, what is the rise in temperature of the aluminium?

	A
	4 K
	B
	8 K
	C
	16 K
	D
	32 K


18
With a small decrease in pressure, which of the following effects is not true?

A
The melting point of ice will be increased.

B
The boiling point of water will be increased.

C
The specific latent heat of vaporisation of water will be unaffected.

D
The rate of evaporation of water will be increased.
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